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(f_n All Qrestion are compulnory,
E;:i: S::v“l:::‘\'::‘:::::‘:t\: H-'t‘tlutI\f‘e\. .‘lit‘l.‘lhm-'ll and SeetionsC' aro 1f‘! be attempted heparately,
i e b o Vi Sectlon=A are one mark questions, These are 1o be
ansmwvered i one word or in one sentence.

(V) Luestion numbers b and 5 (0 Section-A
answered i about 30 words vach,

(VD Question numbeni6 o 1o n Seetion-A are thiee marks questions, These are to be
ansmwered (o about S0 words vach,

() Question numbors 17 10 21 in SectlonsA are five marks questions, These are to be
answered i about 70 swords cach,

(VD Section Bhas JOTBA questions, Ouestion number 22 i two marks, Question
nuanber 2V i theee macks and Question aumber 24 i flve marks (uestion,

() Question numbers 25 to 8 in Sectlon=C are multiple cholee questions based on
practical skitls, Fach question s a one mark question, Yot are o select one most
ill‘I‘I‘i‘l't:ii‘l" respone ol of the ooy [‘!'U\'i‘l"‘i o you, )

(x) Question numbers 3o 56 fcsection Care two marks gquestions based on practical
ahilla, These are 1o be anmvered inabout 30 words cach,

are two marks ||g|p_,i”(uml These are to be

SECTION-A

"
State the “Law of congtant proportions™,

wed by ), Chadwick, What type of charge 3

) &
ocenrs on this pacticie s
What are vectors ¢ Give one example,

‘ i Xl i i y y Ul’ ﬂl'h b\]‘_!r.
(‘illl tll”llii’[\‘ M l‘l“ |_l { [0 }‘ 8 ‘l 0 4

4 ‘. - / g : '
\ Write the name of the aub-atomic particle discove

{ I ) : : ]1"
[atablish the relation between KWh and joules, Define T wi

\ ” 8 i . -ac[‘!
o stV '“l‘- ”H' ll’l‘l\\ll]ill‘. nf two o — W P
\'\’l\i\l Are 10NN \’Vl b 5 } \ 1

I‘] ’ )
esented an X Tind
An clement is represented as s
(@) The number of electront in t']f'llll'lll X
(1) Mass number of an element X,



(<) The number of neutrons in element X.

5 On the basis of the number of protons, neutrons and electrons in the samples given below find 3
Sample { Protons | Neutrons CElactrons '-
A 19 , 20 1o 2
| B 18 | 18 | 18
| C {17 | 20 | 17 3
D 17 117 |17 i
@ the cation ~
(o) the pair of iscbars and
{c) the pai: of ;'sotcpes.

e

\G'\ Mention any three important features of phylum Echinodermata.

at blocks the biochemical pathways for bacterias. Explain the eftect ot 3

following organisms into their respective kingdoms as per Whittaker's five 3

s, Herbs, Cats, Lactobacillus.

woed of mass 5 kg and dimensions 40 em * 23 cm x 10 om is placed on a table top. A
ressure exerted if the block lies on the table top with sides of dimension Y
ia) 1D x 25 cm “\"‘}\
B 20cmx10em R\ ‘\\ =~
"
i3 @ How temperature affects the velocity of sound? y 3
b Define velodity of sound and time period.
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(} 1dentifv and state the type of transformation of energy in the following cases: 3
N (2) when coal is bumt ;&-‘

) when a dry cell discharges Gﬁ-‘

{c) in 2 thermal power plant. i

2 Stzte Archimedes’s Principle. Explain its two applications. £

r and Gunwant were waiting to go across a railway crossing Kumar jumpad over the 3 .

\\ and curiously put his ear on the ragh\ ay track. Cunwant oppa:-t\i Kumar and pullad
av fzom the raflway track.
2} Why did Kumar put his ear on the railway track?
®) Inwhich of the following mediums the s-:v-.u*’i travels faster:
(1} Copper -: it Water \
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What du e viprtane e of Vvt scientific pames of oryanisins 7 Which subproups of o
tlovaiti alion form Pt e Mhuer e bigitifie grappe 7 YWhat is this system of nomeneatgre valled
il why 2 State w dentific fiarme of 1

5

e enitiate Latweery the lfa”rawm;.;f
At diseates and € Brorie thitargne

(n)
“(ha) Indectiosis disense and ! Tomanfeetionss disegon
() fy g Brased treatenienil aried Micrestae Frated tewatment
(il) Ahidtic s aned Viceipes, —
(! () Congenital disease apd Acquired disesse
Elr) '.)"”“” work, Give SEanit of work. Write an expression for positive work done, 5
(hj (_.ulr'nl.lrh- the weork desswe iny prushing i cart thremsgh a distanice of 9%) against the force
:d friction equal 1o 250 10 Alse state the type of vtk deoge
. 4 3 I Ty 1 s
E;‘)*i ! 11,:.1:‘1{&; I:,w; on W floesr of lm:l‘rlm;; at thus height of 15 m. She carries her schonl bag
thiting: 3.2 ko fre LEEr j * ELinAee | :
. ’;; o ’7,, g i .;m !hf ,;rmufrl floor to her heyse, Vind the smount of work done by her
anddentity the force againa which she has done work, (g« 10 me 2) )
e~ - = % 2 I Q! L
'_"_“'"-—'-—-——’ % : = i’/f - ol :_) . o /".A o
by, Give its sathermatieal CEprension, < 5.4
r'(_t- A i

(0)  Define relative dene
'

[Define density. Give ity 51 unit, \
A solid weighs 81 L) air and 64 g in water, Caleulate the refative density of solid. - £ 3
oLin vrater, State if the object would float orsink 7 2 2 ¢ % ﬁ'g). ’:[g, i
Panss Y :

""‘J:{l::i‘ l./l_'
TN J(I;Ehow- B (OTBA) LS
d with this question paper.)

(* Please ensure that apen text of the given theme is supplie
Conservation of Wiiler Stodies

'Waler water everywhere, Bt no water (o drink’, What do you understand by this stsvemeny? 2
W2 V0 : ko
2

’, J - ’ - - .
Lakes are socially beneficial, Give at Jeast three points in favour of this statement,
wrve it Which scheme is implemented 5

Waltcr iy essential for all organisms and we nlmu'ld cons  sch
lu?i_t.mjrt this statement; State and explain its objectives, y
... 4 A7)
SECTION - C - e
11‘ \6 1
In which of the positions shown in the diagram, the suund_ from source placed at A will :_'T""- \,f’
heard the loudest after reflection from the reflecttmpsUrface ?
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Sem X 3 cmon the
on sand i8¢

@ P b Q (c)

boid of mass ‘m’ of dimens
aximum pressure exerte

i loose sand. 1
ons 10cm X

Hari places an iron cu 4 by the iron cuboid

. patio of minimum to m 2/1
'(I:;f_ rdll;/(; mi (b) 1/3 (©) 1/2 (d) / 1
. ; 1 reflect back in time
lse generated moves through a distance d towards fixed end .an;l 'I‘tli}:“;w :
:Irfa!z’rzl;;’::ff‘-r‘c:)nds then \?hiCh formula cut of these will be used to find velo _{
(a) v=d/t D) v=2d/.t Vo 1 ._
(c) v=t/d (d) v=2t/d

Observe the figure given here. Which of the following does it repre sent

megasporophyll N A
A S S Y

scales

T Jrat - [
S TR
Vel oL Y {/ | ‘ /
& [\ . f/ /’_./._—- . v Vi
Sterile Scal 3 ,_/—’/ T L e o .
erile Scales ———%, / =1 e ; en
2 A e $0
B /ZJ 14272, o0
. i \ \
{x) Female cone of pinus {b) Male cone of pinus Ef(’ s
(c) Rachis of Fern (d) Annulus of Agaricus d 3 G\

Observe  the  following  reactions occurring with  the different  masses \ of
bS] = -

A, B, C;‘:r‘ld D. 1 g ‘-,- \ r))
A+ B —» £ 4+ D ) i e ~ R ke
() 1og  25g 3‘{5 g Wxe < bl |
M X 50y “30g 40g e I S ——
(i) 15¢ 38g Y 30g 3 ! e
0 L X L 25g 25¢ -~ b
By applying law of conservation of mass, the correct values of W, X, Y and Z are givenin:
W/ (i) X/ (ii) Y/ (iii) Z/(iv)
L&) 20¢ 30g 20g 23g
f5) > 20g 20g 23y 30g
16) 20¢. 23g 20g 30g
(d) 30¢ 20g 30g 23g

According to the law of conservation of mass :

(a)  initis] mass of reactants s more than the final mass of products

(b)  imitial mass of reactants is less than the final mass of products

%)  initial mass of reactants is equal to the final mass of products

(d)  there 1s no relation between initial mass of reactants and the mass of products formed.

Pead the observation and tick the correct option about A and B seeds.
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and B is monocotyledonous
ous and B js dicotyledonous
otyledonous seeds

ledonous seeds

4) Seed A is dicotyledonoys
() Seed A g monocotyledon
() Both A and B are monoc
(d) Both A and B are dicoty

From the Plants given below the

: Plant in the leaves of which reticul
(a) Maize (B)  Rose

(c) Lily (d) Bamboo = Sl

Blood sucking part of the female mosquito is known as

(a) Palpus (b)  Proboscis

(c) Antenna (d)  Culex

Explain how bat uses ultrasound to catch his prey.
In an experiment a metal ball weighs 2N in
What is the magnitude of the buoyant force acting on it 7

Enumerate any two adaptive features of Easthworm.
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ate venation is found is:

=0\

2

air and 1.5 N when immersed complelely in water. 2



